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EXERCISE 1

ITR R Y

1.90
2.60
3.105
4.80
5.710
6.810
7. 60
8. 180
9.120
10. 120
11. 60
12. 535
13.720
14.510
15.970
16.430
17. 400
18.770
19. 100
20. 165

EXERCISE 2

(A) (B)
[300] [350] [400] [700] [800] [900]

(c)
2000] [3000] [4000]

.400
500
.2000
750
2150
. 6000
800

N U AW~

8.3000
9.300
10. 560
11. 950
12. 8000
13.300
14. 3000
15. 650
16. 130
17.325
18. 10,000
19. 225
20. 7200

EXERCISE 3

(A)
5—>(1) €6
5+6=11
11-5=6
11-6=5

J2+5 =17

. 100 - 60 =40
.45-20=25
.15+10=25
.65-25=40

. 160 - 70 =90
.45-15=30
.30+45=175
.84-50=34
10. 105 - 65 =40
11.92+85=177
12.90-25=65
13.140 - 105 =35
14.42 +22 =64
15.130-35=95
16. 100 - 20 =80
17.55+48 =103
18.105-95=10
19.65-15=50
20. 120 +35 =155

O 031N LNk~ Who—

8 —>({<—10
8+10=18
18-8=10
18-10=8



EXERCISE 4
(A)

(b)
70<4—[15]—»55  120<—[50— 70

Interpretation Interpretation
70-55=15 120 -70 = 50
55+15=70 70 +50=120
70-15=55 120-50=70

.90-85=5
.80-55=25
.200-130=70
.81-65=16
.140+33=173
.76 -38=38
.192-35-157
.208-196=12
.162+10=172
10. 108 - 22 = 86
11.94-52=99
12.98 +8 =106
13.49+50=99
14.30+0=30
15.116 -42="174
16.49-20=29
17.25-15=10
18.42-6=136
19. 100 + 41 =141
20.75+75=150

EXERCISE 5

O 031N N KW —

(A) (B)
00—/ ° \—s g E
Interpretation Interpretation

30+5=6 7x5=35
30+6=5 35+7=5
6x5=30 35+5=7

1)42+6=17

2)65+13=5

3)40x 2 =80

4)50+2 =25

5)39+3=13

6) 60+6 =10

7)10x 10=100

8)15x0=0

9)54+18 =3

10)34x % =34x2=068
11)3x3=9

12) 25+%=25x%=10
13) 60+20=3

14) 144+12=12
159x0=0

16)9 x 5=45

17) 27525 =11
18)48+3 =16
19)5x5=25

20) 707 =10

EXERCISE 6

(B)

(‘ ‘) ,l
Interpl etation é

6X4=24
24:6=4 Interpretation
24:4=6 16+12=28
28-16=12
28-12=16
1)3X 10=30
2) 250 + 200 =450
3)30=5=6
4) 400 - 150=250
5)28+7=4
6) 550 - 300 =250
7)11 X 5=55
8) 98 + 200 =298
9) 60+20 =3
10) 65 -20=45
11)45+3=15
12) 144 - 112 =32
13)4X9=36
14) 63 +52 =115
15)48+6=8
16) 820 - 700 = 120
17) 60+4 =15
18)292-180=112
19) 13 X 5=065
20) 70 + 120 =190



EXERCISE 7

20 (A 7240 B 19515 (€ 49

52 75 25

Interpretation Interpretation Interpretation
20+52=72 40+75=115 15+25=40
72-20=52 115-40=75 40-15=25
72-52=20 115-25=40 40-25=15

1)25+90 =115
2) 60 - 20 = 40

3) 120 - 95 = 25
4)98-90=8
5)88 +20 =108
6) 141 - 96 = 45
7) 48 - 28 =20

8) 92 - 60 =32

9) 134 -70 = 64
10) 241 + 26 = 267
11) 79 + 65 = 144
12)70 - 54 =16
13) 80 - 32 =48
14) 95 - 30 = 65
15) 15 + 34 =49
16) 96 - 28 = 68
17) 88 - 46 = 42
18) 146 + 76 = 222
19) 130 - 36 = 94
20) 66 + 40 = 106

1) 105 + 65 =170
2) 70 - 44 =26
3) 80 - 45 =35
4)75-30=45
5)15+ 10 =25
6) 96 - 63 =33
7) 88 - 25 =63
8) 112+ 76 = 188
9)130- 15=115
10) 55 + 40 = 95

[ 5_

EXERCISE 8

3 4 5 6 9 7
6 8 20 24 45 35

Interpretation

2x3=6 4x5=20 5x9=45
2x4=8 4x6=24 5x7=35
6+2=3 20+4=5 45+5=5
8+2=4 24+4=6 35+5=7
1)5x4=20 11) 150=10
2)10x3=30 15
3 %= 0 12)%=9
4)20=2 13)120=6
10 20
5)%=6 14)#=6
6)40 =4 15)150 =30
10 S
7)30=5 16)25x3 =175

6 17) 80=28
8)110=11 10

10 18) 63 =7
9)70=17 9

10 19)60 =12
10) 96 =8 5

12 20) 11x7="77

EXERCISE 9

(A) 32

8« 4<
12

Interpretation
8x4=32
8+4=12

1)5+20=25
2)3x15=45
3)20-4=16
4)10-8=2
5)20-10=10
6)7x11=77
N4+4=38

8) 100 - 20 = 80
9)45:9=5
10)75-70=5
11)16-12=14
12)3x21=63
13)5+6=11

(B) 5

>5o>1o
40

Interpretation
50+10=5
50 -10 = 40

14) 444 =11
15)15-3=12
16)35+7=5
17)40-35=5
18) 110+ 10 = 120
19)9x 5=45
20)8+6=14



EXERCISE 10

AR

4 | 32 7 1147

Interpretation

8:2=4 2M+3=7
4x8=32 7x21=147
H12x3=36
2)50+10=5
3)10:5=2

425+ 2= 25+5
=25x%= 5x2-10
5)21:3=7

6) 1928 =24
7)10x 5= 50

8) 15+5=3

9) 8020 = 4

10) 3 x 10 =30

11)25x 5=125

10 | 40

40+10=4
4x40=160
12)75+15=5
13) 903 =30
14) 180=6 = 30
15) 1203 = 40
16) 49 x 7 = 343
17) 6010 = 6
18) 12:6=2
19)3x6=18

20)24x 6 =144

EXERCISE 11

6 4
(A) |
5 Interpretation

(6+4)+2=5
1) (10+X)=2=6
10+X=6
2
X=12-10=2
2)(X+10)=2=9
X+10=9
2
X=18-10=8
3)(15+7)=2=11
4)(5+X):2=4
5+X=4
2
X=8-5=3
5)(X+10)=2=15
X+10=15
2
X=30-10=20
6) (12+26)+2=38 _ ¢
2
7)(6+22)Tz—2_28=14
8) (105 + X)=2 = 109
105 + X = 109

2
X=218-105, X=20

2 3
| (B)

2’

(2+3)+2=2%

9) (10 +X)=2=15
X+10=15
2
X=30-10=20
10) (X + 12)=2 =12
><2+12:12
X=24-12=12
1) (X+1)=2=8
X+1 _g
2
X=16-1=15

12)(17+25):2=42 _,,
2 -

13) (45 + 1):—2:% 93

14) 30+ X)=2 = 15
30+X _ 15
2
X=30-30=0
15) (50 + X)=2 =75
50+X _
5 75
X =150 - 50,
16) (X +75)=2 = 50
X275 50

X =100

X =100 - 75,
17) (X +5)22=10
X+5 _

5 10
X=20-5=15
18) (8+8):2=16

2

19) (30 + X)=2 = 16
30+ X _ 16
2

=1
=16 _g

X=32-30=2

20) (X +20)=2 = 90
X +20 =90
2
X+20 =180
X=180-20
X=160

EXERCISE 12

(‘J (B('J (‘J

Interpretation

3x2x5=30 5x3x4=60
1.3x2x2=18

2.40+-(4x5)=40-20=2

3.24:(3x2)=4

e 4.84+(4x3)=7

X=25



5.36+(6x2)=3
6.32+(4x2)=4
7.60-3x2)=10
8.4x3x11=132
9.3x3x4=36

10. 120+(4x 6)=5
11.210+(7x3)=10
12.3x7x5=105
13.108+-(4x3)=9
14.160+-(10x 4) =4
15.42+(7x3)=2
16.90=-3x2 %) =12
A4Ax3x%=6
252 % x%)=20
24+-(2x12)=1
4-2x7)=1

EXERCISE 13

A
3, @ 6 5 ®) 510, ©) 15

Interpretation
5+4=9
3+6=9

1)10+5=15
2)8-2=6
3)32-10=22
4)40-25=15
5Y7+0=7

6)92 - 55=37

7) 105 - 78 =27

8) 235 -65=170
9)19-8=11

10) 110 + 100 =210
11) 99 + 40 = 139
12)12-9=3

13) 320 - 140 =180
14) 79 -37=42
15) 54 - 15=39
16) 205 -92=113
17) 15 + 45 = 60
18)25-15=10
19)99 - 73 =26
20)48 - 14=34

Interpretation
3+7=10
5+5=10

Interpretation
5+20=25
10+15=25

EXERCISE 14

(A) 12 (B) 11
s—g0” i—t”
_\\55 N0
Interpretation
60+5=12 4d4:4=11
60 - 5= 55 44-4=40
1)12-3=9 11) 116 +4 =120
2)36+3=12 12)35-28=7
3)24+4=28 13) 210 - 7=203
4)72+8=9 14)70 + 5 =75
5)36-6=6 15) 140+7 =20
6)90-10=280 16)90 -3 =287
7)99 +9 =108 17) 70 - 60 = 10
8) 121 -110=11 18)20+5=25
9H15-3=12 19) 81+3 =27
10)40+4=10 20)35-30=5
EXERCISE 15
(A9 ] (B)|35] (c) [40]
HAH HBA naH
Interpretation
(1+2)x3=9  (3+4)x5=35 (0+8)x5=40
H1+2=3 13 +%=3% (13
3x3=90)  3yxi=ixi=i-p
2)7+0=7 12)7+2=9
21+7=3(3) 27+9=3 (3)
3)12:4=3 13)26+2=13
1
3-2=1D 13.3-101%
4)45+:5=9 14)30+10=3
9-9=0 © )3_1:2 ®)
5)6+14=20 (%) 15)35+5=17 (5)
50-20=2% 7-2=5
6) 70+7=10 16)2+8-10 (59
10-1=9 O 10x5-50 "0
7)64=-8=28 17)0+9=9 6
8§-5=3 () 54+9=6()
8§)5+1=6 18)54+9=6
6x9=540% 6.3=3 3
9)7+15=22 19)81:9=9
2x0=0 9-4=5 )
10) 6= = 20)3+5=28
6x21=12 8x7=56(56)

0 12-4=8 (8



EXERCISE 16

LW e ©
2 3 7

Interpretation
3x5x2=30 4x5x3=60 1x6x7=42

1)2x3x7=42
2)60+-(5x4)=3
3)21+(7x3)=1
4)40+-(5x2)=4
5)3x4x3=36
6)32+(4x2)=4
7)36+(6x3)=2

8) 18+(3x2)=3
9)84+(3x4)="7
10)3x4x11=132
11)210+3x 10)=7
12) 280+ (7x4)=10
13)20+(2x5)=8
14)2%xVax4=5
15) 120+(6 x 10) =2
16)27=(1x3)=9
17) 18+(1x2)=9
18)20+(5x4)=1
19Y6x3x%=9
20)81+(3x3)=9

EXERCISE 17

(A) — (B) — ©€)

Interpretation
9-7=2 15-11=4 14 -8
7-5=2 1M-7=4 8-2

6
6

14+5=9 8)20 - 16 =4

2)20-5=15 9)60-48=12
3)10+40=50 10)12+6=18
H11+6=17 11)28+3 =3I
5)18-7=11  12)15-4=11
6)6+15=21 13)13-9=3

T8+4=12  14)38+4=42

15)15+5=20
16) 50 - 10 =40
17) 14+2=16
18)4+3=7
19)12-3=9
20)5-4=1

EXERCISE 18

2(3=6 30)5=6

Interpretation
2x3=6 30+5=6

1)2x5=10
2)18+3=6
3)18+3=6
4)5x4=20
5)36+12=3
6)45+-5=9
7)3x2=6
8)4x2x3=24
9)25x3 =75
10) 15x4 =60
11)45+5=9
12) 900+3 =300
13)425+5=285
14) 6 x 10 =60
15)4x5x2=40
16) (500+5)=10=10
17) (300+10) x 2 = 60
18) 201 x 3 = 603
19) 11x7=77
20)6x3x2=36

EXERCISE 19

6, 3>, 5,
(A) + (B) + ©) +
595 299 4913

Interpretation
6+4=10-5=5 3+8=11-2=9 5+12=17-4=13

) (7+3)-6=10-6=4



2)(4+12)-10=16-10=6
3)(2+3)-5=5-5=0
4)(12-11)+8=1+8=9
5)(15+10)-20=25-20=5
6) (18 +10)- 6 =28 - 6=22
7) (42 + 11)-13=53-13=40
8) (70 +30)- 92 =100-92=38
9) (10 +17)-12=27-12=15

10) (15 +15)-24=30-24=6

EXERCISE 20

SAMPLE:
2, 5 8 11, 14, 17
3 3 3 3 3
117,21 11)32,9
2) 23,26 12) 23, 30
3)32, 64 13) 10 5/5, 12 6/5
4)1/24, 131 14) 4
5)25, 32 15)9,7
6) 27, 36 16) 14, 8
7) 23,25 17) 15, 12
8)9, 11 18) 44, 42
9) 5/15, 10/15 19) 24, 30
10) 47, 95 20) 211, 221
EXERCISE 21
{15 [
5] (4]

Interpretation
9+3=12 12+3=15 25+5=30

12:3=4 15+3=5 30:5=6
12-3=9 15-3=12 30-5=25
12:4=3 15+5=3 30:6=5

1)9-3=6
2)20-5=15
3)25+5=30
4)21+7=3
5)18-12=6

6) 24 -4 =20
7)30-25=5
8) 30 + 30 = 60
9)45+15=3
10)30 - 6 =24
11)36-24=12
12)22+ 11 =33
13) 40220 =2
14)45-9=36
15)15-10=5
16) 105 -90 = 15
17) 270 - 180 = 90
18) 100 - 10 =90
19)32+8=4
20)14+2=16

01234567809

abcdefghi]j

(A) hide = 7834 (B) did =383 (C)ile =8/4=2

1) 7867 15) 7403

2) Dad 16) Deaf

3) 466 17) 20+ 15=4/3
4) Big 18)25:5=5
5) 5024 19) Bid

6) Fig 20) 186

7) 1445

8) Cafe

9) 3403

10) Bag

11) 5034

12) Cab

13) 2064

14) Had



EXERCISE 23
0123456789

abcdefghi]j

(A) hajj = 7099 (B) café = 3054 (C) 100 = baa

1) 45 11) 300
2) Fae 12) Bgcb
3)43 13) 100
4) Ebj 14) 47
5) 08 15) Caaj
6) jbb 16) 030
7)4=2=2 17) 454
8) b/d 18) Fif
9) 53 19) 858
10) Gaf 20) 867

[EXERCISE 24
01234567809

abcdefghi)]j
@j+b=9+1  (b)g-f=6-5
(C)dxc=3x2 (d)I1+e=8+4

1) Cexd 11) 54 - 45
2) Hf + ba 12) 62 + 30
3)5-2 13)ccxg
4)64 - 15 149)Gxa
5)20+5 15) Bg+e
6) Ec - dg 16)Bc+g
7jxf 17) 202/12
8) 153 18) 34 + 23
94x5 19) 68 - 50
10)6 +4 20)49+7

EXERCISE 25

TELEGRAM

82526 37 4
(a) TEAR = 8273 (b) 528 LET

1) 325782 6) 3782
2) 63278 7) Gate
3) Ear 8) Meat
4) Greet 9) 827

5) 526 10) 782

11) Rat
12) Get
13) 374
14) 478
15) Eat
16) Meat
17) 426
18) 8732
19) Tel
20) Lame

EXERCISE 26

examination
28143517365
(a) notion = 567365 (b) 735 = tin

1) 718 11) Ten
2)3724 12) Net

3) Extent 13) 14351
4) Meat 14) 5142
5) 43551 15) Exam
6) 2837 16) Note
7) Nine 17) 517365
8) Tin 18) 7257
9) 7287 19) Next
10) 4227 20) Mine

EXERCISE 27
1/3\(2/3 1 Y/S 2/3\(1/2
1

1 1Y%
Interpretation

1/3 + 2/3 =1 Y+ 1/3 ha 2/3 * 1/3 =1
-2 @n)

—_

+ o+
n U w|—

Il

i

7y

=

2o =1 qins)

S v e

3,125 2365 23 i)

_53 _2

=33 - /9 2/9)

(1/12)

=338 =1 (13120
5 -5 o

8. 132 _1H8_3 (520

=)
(98]

@ 9.1-—:ﬂ73/6 (3/6)



10. 3.2 =136-%  @ny
1. L-+-5-3% cmn
12. 2+ 2 =34 =% o)
13. L+ 2 -2 -3 @
4. 3 - £+ =42 =% ©»o
154 - 2=2-2-B8-% o
16. 13- & =1512=% (7s8)
17. 5 5 -33 - 6/1 (6/10)
18. 3-+ =3 -% v

19. L3 -TH2-19 19ns)
20. -2 -8 =L e

s e %

A I

Interpretatlon

V-Y=hs k- Ys-Ys=Ts
LI 1I- -3 on

2. +- 121 e
L N
N

5. Bl -B0-49 ) @oco)

6. ;—§+%:9]1—;566:%:% (3/4)
7. 2.2 -8 s

8. %-%=%=3/10 (3/10)

10. L -3 =33 =2 L a5
11.% %775—1“7;—?76/7 (6/7)
12. 2+ 2 =109-B- % G
13.%-%;‘%27 ks (23559
14-%-%=%=%=5 2
15. +5 =T =-3-% an
16. 244 -3 4-%-4-

17.%+; 5
18.%+%:3%'1:—:
19. 8.3 -9
0.3t

=342 =% o

EXERCISE 29

7

Interpretation 5+12=17
6+4=10 10+7=17
7+3=10 2+15=17

5+5=10

3+9=12
2)15-7=8
3)8-3=5
4)20-15=5
5)19-8=11
6)25-14=11
7) 45 - 25 =20
8)6+10=16
9)32-15=17
10) 50 - 15 =35

10 12

5 4 2 5. 10 18
6 3 5 v 15 7 20

15

170++1185==2255

5+20=25
11)12-5=7
12)17-9=38
13)28-15=13
14)39-19=20
15) 65 - 18 =47
16) 60 + 10 =70
17)40 - 15=25
18)31-9=22
19)22-12=10
20) 100 - 60 = 40

EXERCISE 30

W

—_ —

e Ex

1 1

[O8) EN [\
Il Il

o8}
Il

A‘
— Wy LN B[S oo
I
&}

)
Il

I
o



EXERCISE 31

Samples

1.(5x6)-1=30-1=29 (29)

2.23+1 =24 =6 (6)
7 7

3.(4x4)-1=16-1=15 (15)

4.(x20)-1=5-1=4 (4)

5.99+1 =100
4 4

6.(6x%)-1=3-1=2 (2)

25 (25)

7.14+1=15=5 (5)
3 3

8.39+1 =40 =4 (4)
0 10

9.76+1=77=7 (7)
T Tl

10.34+1=35=5 (5)
7 7

11.54+1 =55=11 (11)
5 5

12.8941=90=9 (9)
0 10

13.3541=36=6 (6)

14.9+1=10 +%=10Xi

15.2x6)-1=12-1=11 (11)
16. (9 x 10) -1 =90 -1 = 89 (89)

17.(4x5)-1=20-1=19 (19)

Interpretation
(A)3®@4=11 3x4=12-1=11
(B)2@®8=15 2x8=16-1=15
©5xM=34 5x7=35-1=34

18.26+1=27=9 (9)
3 3

19.71+1=72=6 (6)
12 12

20.35+1 =36 =12 (12)
3 3

EXERCISE 32

1) 10

2) 1

3)9

4) Dodo

5) Akpu and tuo

6)2

79

8) Rice

9) Akpu and tuo

10) 3

EXERCISE 33

1)10+3+8+4=25
2)20+3+8+6=37
3)16+4+8+6=34
4)4

5)3

6)6

78

8)40-25=15
9)40-37=3
10)40-34=6

EXERCISE 34

3x5=15:2=7%» 4x5=20:2=10 2x4=8:2=4



6x2=12
2)10+2=5
3)24:6=4
4)20+4=5
5)6x5=30
6)25+2=12%
7)50+10=>5
8)12:2=6
9)6x3=18
10)21+2=10%
11)32:8=4
12)35+7=5
13) 8 x 3 =24
14) 50+2 =25
15)27+2=13%
16)30+10=3
17) 12+1=12
18) 15x1=15
19)45+2 =22V
20)40+10 =4

EXERCISE 35

6+4=10 12+46=18+6=3 5+1=6<1=6
1)8:3=8/3=2% 18)21-18=3
2)8+2=10 19)21 +3 =24
3)18-15=3 20)33-3 =11
4H6+2=28

5)12:3=4

6)12-4=8

720-15=5

8)20+10=230

9) 133 =13/3 =4}

10)5-1=4

11)24-20=4

12) 202 =10

13)35-5=30

14)25-20=5

15)7+3=10

16) 126 =2 @
17)21-7=14

EXERCISE 36

OX® @°®
29 @
4 © OR9d
Interpretation Interpretation
7x4=28 12x5=60
13+15=28 29+31=60
7+5=12 11)11+13=24
2)15-9=6 12)45-20=25
3)§-3=5 13)22-10=12
4)9:3=3 14)35:7=5
5)6+3=2 15)60+12=5
6)4x5=20 16) 54+6=9
7 14-3=11 17) 56+7 =8
8)21+3=7 18) 99 -42 =57
9)25+5=5 19) 12x 13 =156
10)30+-6=5 20) 90 - 60 =30
EXERCISE 37
(A) (B)
5 12
8 7
10 5 @
D (@4+6)=10
10-3=7
2)3+9)=12
12-7=5

3)(13+2)-5=15-5=10
4)(7+14)-6=21-6=15
5)(12+8)-5=20-5=15
6)(10+2)-5=12-5=7

7) (20 + 30)-20 = 50 - 20 = 30
8)(11+8)-2=19-2=17

9) (15+7)-10=22-10=12
10) (20 +7)-17=27-17=10
11)(9+10)-5=19-5=14
12) (11 +25)-26=36-26= 10



13) (21 +9)-12=30-12=18 _
14) (30 + 10)-25 = 40 - 25 =15 EXERCISE 40

B.

C.

112y
10 2
9 . 3
8 4
76 5

A

15) (16 +4)=20-8=12

16) 32+ 15)=47-30=17
17) (65 + 25)-50 = 90 - 50 = 40
18) (20 + 40)-45 = 60 - 45 =15

19) (3 +77)-5=80-45=35 FAMD
20)(9+6)-9=15-9=6 Sz zZ?
1 11) 12
2) 10 12) 1
3)3 13) 12
410 14) 10
EXERCISE 38 uE 1512
(A)5|3=5x3=15 6) 12 16) 4
(B)5]13=5x3x3=45 7)9 17) 8
(©)3llll2=3x2x2x2x2=48 81 18) 2
_ 9) 1 19) 4
1)3x2=6
2 2x3-6 10) 11 20) 5
3)2x3x3=18 EXERCISE 41

4)3x5=15

REREREY AR AR
6)5x2x2=20

7)5x2x2x2x2=80 qp wp
8) 10 x 2 =20

9) 10 x 2 x 2 =40 3x6=18:2=9 5x 4 =20+4=25
10)6x5x5=54 1) (4x6)=8=%=3
11)7x2x2=28 2)21+3=7x6=42
12)6x5x5=150 3)24+(10+5)=12
13)4x3x3x3x3=324 4)(36x3)+9="8=12

14) 7x5=35 5)9+1%=6x5=30
15)7X5X5:175 6) 15+(45+9):3

16) 21 x 3 =63 7)12+6=2x10=20

EXERCISE 39 8) 12+9=4/3x6=8

EXERCISE 42

(A) (b)
i 43|12 1|77
7438 Interpretation Interpretation
1)8 6)2 4x3=12 Mx7=T71
2)9 77
31 8) 12

4)9 9) 4
5)3 10) 11 @



1)117+9=13  9)39-12=3Y4
2)16x25=400 10)190+-19=10
3)85+7=12 11)105+7 =15
4)16x12=192 12)72+9=38
5)3x27=81
6)5x 14=170
7) 110+22 =5
8)65+5=13
EXERCISE 43

(a) (b)

5 15 7 9

45 21

9 30 3 12

Interpretation

5x9=45 7x3=21

15+30=45 9+12=21
1)165=11=15  6)110=10=11
2)96 - 42 =154 7)7x9=063
3)35-20=15 8) 160+-8 =20
4)13x8=104 9)20-16=4

5) 240 x 1% = 300
(300 - 120 = 180)

EXERCISE 44

(a) (b)

10) 125+80 =45

45+5=9 603 =20
3x3=9 4 x5=20

1)9+3=3

2)2x3=6

3)25:5=5

4)90+-10=9

5) 10 x 20 = 200

6) 105+7=15

7)44x3 =132

8)90+10=9

9) 50010 = 50

10) 6 x 10 = 60

EXERCISE 45

513 7

3

15 8 21

5x3=15
5+3=8

7+5=12
2)21-12=9
3)9x8=72
4)20-15=5
5)11+12=23
6)29-20=9
7)20 x 10 = 100
8)27-15=12
9) 13+9=22
10)16-9=7

EXERCISE 46

<) > <

a)3x5=15+4=19
b)4x2=8+7=15

1)(17-5)=4=3
2)45-(7x5)=10
3)(9x9)x35=116
4)(134-50)=7=12
5)(9x 11)+32 =131
6) 175 -(15 x 7) = 70

7) (263 - 74)=21=9
8) (120 - 20)=2%=31%
9) 110 - (1% x 20) = 70
10) (9 x 4) +25 =61

Revision 1
1) 17,21 6) 400
2) 23,26 7) 500
3)32, 64 8) 2000
4)1/24,1/3 9) 6000
5)25,32 10) 800

W

7x3=21
7+3=10

(>



Revision 2

1)30 7115

2) 450 8) 40

3)6 9) 25

4) 250 10) 45

5) 65 11) 20

6) 298 12) 32
Revision 3

1)36 515

2)5 6) 6

3)7 77

4) 24 8) 37
Revision 4

1) 42 5)9

2)3 6) 15

3) 36 711

4)4 8) 21
Revision 5

1) 718 7) 14351

2) 3724 8) 5142

3) Extent 9) 3/8

4) Meat 10) 1/6

5) Ten 11) 49/60

6) Net 12) 21

) Ne ) e
Revision 6

12 5)2%

2)5 6) 10

3) 30 7) 4

4) 12% 8) 8
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